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Pinatubo in- Philippines is  an
example of

(A) Extinct Volcano

(B) Dormant Volcano

(C) Active Volcano

(D) None of these

Which earthquake will do maximum
damage on the earth surface ?

(A) Shallow focus earthquake

(B) Intermediate focus earthquake
(C) Deep focus earthquake

(D) All of these

Yardang & Zeugen are formed due
to the action of

(A) River water
(B) Wind

(C) Glaciers
(D) Sea waves

The local wind Foehn blows in
(A) Alps region

(B) Rocky region

(C) Atlas region

(D) Himalayan region

Gandhi Sagar Dam is constructed
over river

(A) Narmada
(B) Mahanadi .
(C) Kaveri
(D) Chambal

Who developed ‘Waran Kshiti’
script for writing Ho language ?

(A) Raghunath Murmu

(B) Lako Bodra

(C) Ram Dayal Munda

(D) None of these
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10.

11.

In India the first Cotton textile mill
was established in Mumbai in

(A) 1832
(B) 1850
(C) 1854
(D) 1872

Silicon Valley the birth place of IT
industry is located in in
United States of America.

(A) New York
(B) Los Angeles
(C) Chicago
(D) California

Tropic of Cancer does not pass

- through

(A) Mizoram
(B) Tripura

(C) Manipur
(D) West Bengal

The arrow portion shows the

following landforms :
A

i

o

(A) Batholith
(B) Laccolith
(C) Lopolith
(D) Phacolith

The metamorphic form of Granites is
(A) Quartzite

(B) Schist

(C) Gneiss

(D) Marble
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12.

13.

14.

15.

16.

Maori tribe is mainly found in _
(A) Australia

(B) Samoa Island

(C) New Zealand

(D) Japan

Konuko is the name of shifting
cultivation in

(A) Mexico

(B) Venezuela
(C) Brazil

(D) Congo Basin

Kukrail project is related to

conservation of
(A) Snakes
(B) Tortoise
(C) Vulture
(D) Crocodile

In this diagram which type of
landforms is shown ?

12.

13.

14.

13.

(A) Erretics
(B) Inselburg
(C) Mondnock
(D) Spur

The chief traditional economic
activity of Bushmen is

(A) Fishing
(B) Hunting
(C) Gathering
(D) Agriculture
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17.

18.

19.

20.

21.

The countries included in golden
triangle are

(A) Cambodia, Myanmar, Thailand

(B) Laos, Myanmar, Thailand
(C) Cambodia, Laos, Thailand
(D) Laos, Cambodia, Myanmar

Cliff is formed by the action of
(A) Glacier

(B) River

(C) Sea waves

(D) Wind

Benguela port is in which country ?
(A) Angola

(B) Congo

(C) Namibia

(D) South Africa

The tropical cyclones are called
typhoons in

(A) USA.
(B) Australia

» (C) Japan

(D) China

Rift Valley is also known as
(A) Fault plane

(B) Horst

(C) Graben

(D) Nappes
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22,

23.

24.

25.

26.

The highest water fall of Jharkhand

is
(A) Hundru
(B) Sadni

(C) Burhaghag
(D) Panchghat

The population density of Jharkhand
as per the Census of 2011 is

(A) 394 persons per sq. km.
(B) 428 persons per sq. km.
(C) 414 persons per sq. km.
(D) 328 persons per sq. km.

Miami Sea Coast is in which state /
province of U.S.A. ?

(A) Alabama
(B) Florida
(C) Georgia
(D) Louisiana

Which of the following has better
female literacy rate than Jharkhand
as per the Census 0of 2011 ?

(A) Bihar

(B) Rajasthan

(C) Jammu & Kashmir
(D) None of these

Dhumkuria is a peculiar features
found in which tribal group of
Jharkhand ?

(A) Munda
(B) Oraon
(C) Santhal
(D) All of these
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27.

28.

29.

30.

31.

Which country is the leader in Cocoa
production in the world ?

(A) Zambia
(B) Ghana
(C) Brazil
(D) Guinea

Average Annual Rainfall received
by Jharkhand is

(A) 200-300 cm
(B) 100-200 cm
(C) 300-400 cm
(D) 80-100 cm

Siachin Glacier is located in
(A) The Pir Panjal Range
(B) The Garhwal Range
(C) The Karakoram Range
(D) The
Range

Kanchanjunga Everest

Chos (seasonal streams) are mainly
found in

(A) The Ganga Plain

(B) The Punjab-Haryana Plain
(C) The Rajasthan Plain

(D) The Brahmaputra Plain

Decadal growth rate of population in
India between 2001-2011 is

(A) 21.54%
(B) 17.84%
(C) 17.64%
(D) 21.24%
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32.

33.

34.

3s.

36.

The Departmental Border
Management is a department under
which of the following Union
Ministry ?

(A) Ministry of Defence

(B) Ministry of Home

(C) Ministry of External Affairs
(D) Ministry of Road Transport

Which of the following constituency
of Lok Sabha is the largest in terms
of area ?

(A) Arunachal West
(B) Ladakh

(C) Ranchi

(D) Patna city

‘Uncle Sam’ word is connected with
country in the world

(A) America
(B) Russia
(C) Pakistan
(D) China

Minority Institutions have been
excluded from the ambit of RTE Act
due to which of the following rights
guaranteed by the Constitution ?

(A) Article 16

(B) Article 19(1) C
(C) Article 29

(D) Article 31(1)

The first Communist Government
came into force in which country ?

(A) China
(B) Cuba
(C) Russia
(D) North Korea
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37.

38.

39.

40.

The governor submits his resignation
to

(A) Chief Minister

(B) Chief Justice of the High Court
(C) President

(D) Prime Minister

Can a person be appointed governor
of more than one state ?

(A) Yes

(B) No

(C) Only temporarily
(D) Never

Consider the following Indian
religious communities :

1. Sikhs
2. Buddhists
3. Christians
4. Parsis

Which among the above have been
conferred the minority status by the
Government of India ?

(A) 1&4
®B) 1,2&4
©) 2,3&4
(D) 1,2,3&4

The Election Commission of India is
not concerned with the election of

(A) The President

(B) Vice-President

(C) Panchayati Raj System
(D) All of these
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41.

42.

43.

45.

Minerva Mills case is related to
which Constitutional amendment ?

(A) 32M
(B) 40%
(C) 42
(D) 44%

Soharabuddin Fake Encounter case
is related to which State ?

(A) Bihar
(B) Jharkhand
(C) Gujarat
(D) Assam

Which of the Congress Meeting laid
the foundation of the Directive
Principle of the State Policy ?

(A) Delhi Resolution

(B) Karachi Resolution
(C) Meerut Resolution
(D) Lahore Resolution

Who is the Deputy Election
Commissioner of India ?

(A) Chandra Bhusan Kumar
(B) Anurag Aggarwal

(C) Om Prakash Rawat

(D) None of these

Which of the following Schedule of
the Constitution of India has to be
amended to provide for the
formation of a new state ?

(A) First Schedule
(B) Second Schedule
(C) Third Schedule
(D) Ninth Schedule
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46.

47.

48.

49.

NITI Aayog’s ‘NITI" stands for .

(A) National Institute for
Transforming India

(B) National Institute for Trade and
Investment

(C) National Informatics Training

Institute

(D) National Industrial Training
Institute

The concept of Gender

Empowerment Measure (GEM) was
introduced by

(A) Central Statistical Office (CSO)
(B) NITI Aayog
(C) World Bank

(D) United Nations Development
Programme (UNDP)

Which of the following is not a
characteristic of a
underdeveloped country ?

common

(A) Agrarian economy

(B) Scarcity of capital

(C) Slow population growth

(D) Technological backwardness

Article 35 A is related with which
State ?

(A) Kerala
(B) J&K
(C) Sikkim
(D) Tamil Nadu
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50. As per the Indian National Accounts

)

52.

53.

Statistics, the organized sector
includes all establishments in the
public sector and all non-agricultural
establishments in the private sector
employing

(A) 2 or more workers

(B) 5 or more workers

(C) 8 or more workers

(D) 10 or more workers

Himayat, a sub-scheme of Deen
Dayal Upadhyaya -
Kaushalya Yojana for regional
inclusion of candidates is for the
youth of

(A) Punjab

(B) Kerala

(C) Jammu & Kashmir

(D) Jharkhand

Grameen

Which of the following is the second
most important food crop in India ?

(A) Rice

(B) Wheat
(C) Pulses
(D) Maize

As per 2011 Census in India, which
of the following state has maximum
urban population ?

(A) Uttar Pradesh

(B) Maharashtra

(C) Tamil Nadu

(D) Karnataka
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5.

57.

Which of the . following tax as
percentage of GDP (Gross Domestic
Product) is maximum for Central
Government in India ?

(A) Corporation tax

(B) Taxes on income other than
Corporation tax

(C) GS.T.

(D) Custom Duty

Which of the following is not a
source of non-tax revenue to the
Central Government of India ?

(A) Interest Receipts
(B) Dividends & Profits
(C) External Grants

(D) Union Excise Duty

Which of the following item has the
largest share in expenditure of the
Central Government ?

(A) Non-Defense Capital
Expenditure

(B) Total Subsidies
(C) Interest Payment
(D) Centrally Sponsored Schemes

At present, which of the following is
the largest source of institutional
credit to agriculture sector in India ?

(A) Cooperative Banks

(B) Land Development Banks

(C) Scheduled Commercial Banks
(D) Regional Rural Banks
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S8.

59.

60.

61.

62.

Which one of the following is not a
component of ‘Namami Gange
Mission” ?

(A) Urban Sanitation

(B) Ecosystem Conservation

(C) Sewerage Infrastructure

(D) Flood Plain Planning

In 2018-19, which of the following
was the largest exported commodity
for India ?

(A) Petroleum products

(B) Pearl, precious, semi-precious
stones

(C) Iron & Steel
(D) Organic chemicals

In 2018-19, which of the following
country is the largest source of
imports of India ?

(A) US.A.

(B) China

(C) U.A.E. (United Arab Emirates)

(D) Saudi Arabia

Which of the following mineral is
exclusively not produced in
Jharkhand ?

(A) Cooking coal
(B) Uranium
(C) Pyrite

(D) Mica

‘NHB RESIDEX’ is a price index in
India for measuring change in the
price of

(A) Horticulture products

(B) Residential property

(C) Cinema tickets

(D) Shares
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63. Which of the following town of
Jharkhand has maximum slum
population as percent of total
population of the town ?

(A) Jamshedpur
(B) Rajmahal
(C) Giridih
(D) Saraikela

64. In Jharkhand, which of the following
sub-sector has maximum share in
industrial output ?

(A) Mining and quarrying

(B) Manufacturing

(C) Electricity, gas, water supply
and other utility services

(D) Construction

65. Mourya Coal Block in Jharkhand is
located in the district of

(A) Godda

(B) Dhanbad
(C) Hazaribagh
(D) Chatara

66. Which of the following is the biggest
source of tax revenue to the
Jharkhand state ?

(A) Taxes
services
(B) Taxes on property & capital
transactions
(C) Taxes on
expenditure
(D) None of these

on commodities &

income  and
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(A) g
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67.

68.

69.

Match List — I with List — I and
select the correct answer with the
help of codes given :

List—1I List-11I
(Mahajanapada) (Capitals)
a. Asmaka 1. Hataka
b. Avanti 2. Mahishmati
c. Chedi 3. Potak
d. Kamboja 4. Suktimati
Codes :

a b c d
A) 3 2 4 1
B 2 3 1 4
© 1 4 3 2
D 1 2 4 3

Who amongst the following rulers
was illiterate ?

(A) Alauddin Khilji

(B) Muhammad-bin-Tughlaq
(C) Akbar

(D) Aurangzeb

Match List — I with List — 11 and
select the correct answer using the

codes given below the lists :
List -1 List - II
(Kings) (Spouse)
a. Chandraguptal 1. Dutta Devi
b. Samudragupta 2. Kuberanaga
¢. Chandragupta Il 3. Kumara Devi
d. Kumargupta I 4. Ananta Devi
Codes :
a b ¢ d
A 2 3 4 1
B) 3 2 4 1
<€ 3 1 2 4
D) 4 3 1 2
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69.

3 A9 A g2 ) wEEa @ ad
I BT 937 Hifdr
gt -1 g -1
(TEISIT) QL))
a. TS 1. B
b. Jaf< 2. ufgerdft
C. %ﬁ 3. 9iE®
d. s 4. gfemdt
He:
a b c d
A 3 2 4 1
@ 2 3 1 4
© 1 4 3 2
1 2 4 3
g 0 @ =l e sl o 0
(A) e Raersh
(B) TEwg fo gt
(C) IH
(D) T
gl — [ gEt - 11 3 gafera i
a0 g & R R ™ e w1 wEm
+ g8 IR
gt -1 gt -11
() (i)
a. SgH | 1. e
b. WHETH 2. HEAET
c. SFMEI 3. FAR
d. TARH 4. =
kT
a b c d
A 2 3 4 1
@ 3 2 4 1
© 3 1 2 4
® 4 3 1 2
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70.

71.

72.

73.

74.

When did Shivaji assume the title of

Chbhatrapati ?
(A) 1665
(B) 1670
(©) 1672
(D) 1674

Who set up the “Tattvabodhini
Sabha” in Bengal ?

(A) Keshav Chandra Sen

(B) Debendra Nath Tagore

(C) Raja Rammohan Roy

(D) Aurobindo Ghosh

Who among the following was the
greatest  protagonist of widow
remarriage in the 19" century ?

(A) Raja Rammohan Roy

(B) Keshav Chandra Sen

(C) Ishwar Chandra Vidyasagar
(D) Pandit Guru Dutt

What was the outcome of Treaty of
Amiens (1802) between Napoleon
and England ?

(A) Both promised not to attack the
possessions of one and another

(B) Goa was acquired by the British
(C) Mahe became a French port

(D) England restored Pondicherry
to the French

Which of the following Sikh Gurus
rose against Shahjahan and defeated
an imperial army at Sangrana near
Amritsar in the first half of the 17%
century ?

(A) Guru Arjan Das

(B) Guru Har Gobind

(C) Guru Har Rai

(D) Guru Har Kishan
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.. Rrarsh 3 v waefa 6 suf oge &0

(A) 1665
(B) 1670
(C) 1672
(D) 1674
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(B) qa=TY 21K
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(D) Jfa= iy
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(B) = 8

- (C) v fygmEmR

(D) qfusd 7% g1

AR Ud Srelve % wey “anfiEt

|fR1" (1802) 1 941 wfider g3t 2

(A) v ferpa &t W SrsRr T
HH P ATEAEA
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(C) ©g, T S=uTE &1

(D) $wivg grT Wit ) DfveSh
19 AR 7T )

e for o3l #f @ ®l wewEl %
foeg @g1 gam 3t 17 v ¥
TN T SaE F Prebhe g & e
®ist ! qufya Rear 2
(A) T 3 T
(B) Te & Mifv
O TERW
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75.

76.

77.

78.

Who among the following made
“Sannyasi  Rebellion”
through his writings ?

(A) Bankim Chandra

(B) Sisir Kumar Ghosh

(C) Din Bandhu Mittra

(D) Harish Chandra Mukherjee

famous

Who was the leading exponent of the
theory of “Drain of Wealth” ?

(A) M.G. Ranade
(B) Mahatma Gandhi
(C) Dadabhai Naoroji
(D) Annie Besant

Who among the following drafted
the Gandhi-Irwin Pact (March 5,
1931)?

(A) Mahatma Gandhi
(B) Lord Irwin

(C) Herbert Emmerson
(D) None of these

Who amongst the following publicly
shot dead the two sons and a

grandson of Emperor Bahadur

Shah I1 ?

(A) John Micholson
(B) Henry Lawrence
(C) Lt. Hudson

(D) Sir Hugh Roe
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fim § 3 fFm ot Ffwl g
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(A) sfem =g

(B) Tufiw pum oy

(C) ey form

(D) &l gsft

«grq &Y e fagra &1 $F 78
i o1 2

(A) s TR

(B) WgTe e

(C) TEMTS Sh

(D) T eE=

frer § & fega meft-sie awsiar
@ 5, 1931) % WEY S dAR fw
a1?

(A) TgTeT et

(B) e g

(C) & 3eEd

(D) 3 & g T

o 4 | fopem TwTe wBTg wiE fgda
F Q gl W T 9 H wcAAH
foram 2

(A) W frepreed
(B) & witw
(C) AfRe gea
(D) WM
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79. Which of the. following programmes

80.

81.

of Arya Samaj contributed to the

growth of Communalism in India ?

(A) Spread of education among
women

(B) Eradication of untouchability

(C) The ‘Suddhi’ Movement

(D) Propagation  of  Western

Education and Teaching of
Science

Raja Rammohan Roy represented a
synthesis of thoughts of East and
West. Which of the following was
not his postulates for regeneration of
Indian society ?
(A) Rational
approach.

and scientific

(B) Principle of human dignity and
social equality of all men and
women.

(C) Introduction of  modern

capitalism and industry in the

country.

(D) Independence from the foreign
rule.

India owes the beginning of English
education in the country to the
Christian Missionaries. The name of
which one of the following
missionary stands ‘foremost in this
regard ?

(A) William Carey

(B) David Hary
(C) Alexander Duff

(D) R. Herber
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82.

83.

8s.

What was the extremely novel and
original method initiated by
Mahatma Gandhi to solve the
peasants problems during the
Champaran Satyagraha of 1917-18 ?

(A) He undertook a fast unto death.

(B) He started a civil disobedience
movement including non-
payment of taxes.

(C) He conducted a systematic and
authoritative enquiry into the
sufferings of the peasants.

(D) He instructed the peasants to
court arrest for refusal to obey
the directives of the indigo
planters.

Who organised the ‘Satyagrah
Sabha’ whose members took pledge
to disobey the Rowlatt Act ?

(A) Madan Mohan Malviya
(B) Dr. Saifuddin Kitchlu
(C) Mahatma Gandhi

(D) Mazhar-ul-Haq

On whose suggestion the date of
Partition of Bengal (Oct 16, 1905)
was celebrated as “Rakhi Bandhan
Day” ?

(A) S.N. Banerjee

(B) Mahatma Gandhi

(C) R.N. Tagore

(D) Aurobindo Ghosh

Whose efforts led to the enactment
of the Age of Consent Act 1892 ?

(A) Dadabhai Naoroji

(B) S.S. Bangalee

(C) Behramji M. Malabari

(D) Ishwar Chandra Vidyasagar
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86. Jyotiba Phule was associated with
(A) Peasant Movement
(B) Anti Caste Movement
(C) Trade Union Movement
(D) None of these

87. Which one of the following theistic
philosophies did M.G. Ranade
approve of ?

(A) Mysticism
(B) Vedantism
(C) Pantheism
(D) Bhakti Cult

88. Who among the following did use
the word “Pakistan” for the first time ?

(A) Chaudhary Khalig-ul-Zaman
(B) Fazlul Haq

(C) Muhammad Ali Jinnah

(D) Chaudhary Rehmat Ali

89. Who among the following did bring
out the magazine ‘Indian Socialist™ ?
(A) Shriniwas Shastri
(B) Shyamji Krishna Verma
(C) Madan Lal Dhingra
(D) Har Dayal

90. Who among the following did give
the title of “Mahatma” to Gandhiji ?

(A) Jawaharlal Nehru

(B) R.N. Tagore

(C) Subhas Chandra Bose
(D) Annie Besant
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91.

92.

93.

94.

95.

Which among the following tribes of
Jharkhand belongs to the Dravidian
family of language ?

(A) Mundas

(B) Santhals

(C) Hos

(D) Oraons

Which place in Jharkhand the
English East India Company opened
the first modern school in 1839 ?

(A) Hazaribagh

(B) Dhanbad

(C) Chakradharpur
(D) Kishanpur (Ranchi)

Gono Pingua was an important
leader of the anti-British resistance
in Kolhan. Which movement he was
associated with ?

(A) Kol Revolt, 1831-32
(B) Revolt of 1857

(C) Sardari Larai

(D) Tarachand Movement

Bhognadih is associated with which
movement of Jharkhand ?

(A) Santhal Hul

(B) Birsa Ulgulan

(C) Kol Revolt

(D) Chuar Revolt

Which among the following

organisation was started by Sachin

Sanyal and Jogesh Chandra Chatterji ?

(A) Labour Kissan Party

(B) Yugantar

(C) Hindustan
Association

(D) Hindustan Socialist Republican
Army

Republican
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96.

97.

98.

99.

100.

Who started Tana Bhagat Movement
in Jharkhand ?

(A) Jatra Oraon
(B) Budhu Bhagat
(C) Birsa Munda

(D) Mata Ho
‘Ghar-bandhu’ was a fortnightly
journal published by  Stone

Lithographic Press in Ranchi. In
which language it was published ?

(A) Mundari
(B) Hindi

(C) Bangala
(D) English

In the Adivasi Society of Jharkhand,
the term ‘Hatu’ is used for a

(A) Town

(B) Jungle
(C) Village
(D) Port

What is a ‘Mandar’ ?
(A) Musical Instrument
kB) Agricultural tool
(C) Electronic gadget
(D) None of these

Which of the following movements
of Jharkhand was influenced with
the Gandhian political ideology ?
(A) Birsa Ulgulan

(B) Tana Bhagat Movement

(C) Kol Revolt

(D) Santhal Hul
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